Comparison of Current Magnitude Error with and without
Temperaure Compensation from -40 °C to +125 °C
25 micro-Ohm Shunt & Copper Busbar

Current Magnitude Error vs Temperature
(SFP101 WITHOUT Temperature Compensation, 25 yQ Shunt )
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Current Magnitude Error vs Temperature
(SFP101 WITH Temperature Compensation, 25 uQ Shunt, Magnified 10X)
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Current Magnitude Error vs Temperature
(SFP101 WITHOUT Temperature Compensation, Copper Busbar, 60.5 mm?, 50 pQ )
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Current Magnitude Error vs Temperature
(SFP101 WITH Temperature Compensation, Copper Busbar, 60.5 mm?, 50 uQ, Magnified 200X)
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